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The ranking problem on the feed tries to balance three important metrics, Viral Actions (VA), Job Ap- . 1 \ B
plies (JA), and Engaged Feed Session (EFS). For a member m the updates u in the feed is ranked according 2 —
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max VA(x) st. EFS(x)>cprs, JA(x) > cya (2)

ONLINE RESULTS

REFORMULATION FOR BAYESIAN OPTIMIZATION

The optimal value of z (tuning parameters) changes over time. Example of changes can include
new content types or updated relevance models. With every change engineers would manually find the
optimal z by running multiple A/B tests and it is not the best use of engineering time.
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Proposed Solution: We solve the problem through an e-greedy Thompson Sampling Algorithm. : :
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Each function fj is modelled as a Gaussian Process. We start with a random distribution on x and using = T Food Sonc 389 K
the observed data, we estimate the posterior of each f;. We sample from the posterior and estimate the NHAGEE TECd SES5I0N o 2
new distribution of the maximum z*. We continue this process till convergence. Job Applies +12.8% 647



